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PART A. Vocabulary
Directions: Read the following sentences and choose the best choice (1), (2), (3) or

(4) that best completes the sentence; then mark the correct choice on your answer
sheet.

You will be ----==-m---- by any loss or damage caused by our company.

1) reimbursed 2) assaulted 3) concentrated 4) endangered
The act of taking something that belongs to someone else is called ---------- .

1) acknowledgement  2) omission 3) accommodation 4) appropriation
The death of two members of her family in close -—---—----- is mysterious.

1) proximity 2) discretion 3) protection 4) provocation
She had the --------- to prepare herself financially in case of an accident.

1) sufficiency 2) foresight 3) penalty 4) immidiacy
He plans to appeal against his ----------- : he states he had no role in the theft.

1) recklessness 2) battery 3) premise 4) conviction
----------- is the crime of killing someone deliberately.

1) Obligation 2) Offence 3) Homicide 4) Prosecution
The company cannot accept ---------- for any damage caused by natural disasters.
1) aggravation 2) menace 3) liability 4) handling
The government has clearly decided that a cut in interest rates would be out of political

amemmem===== but not fair act.

1) application 2) expediency 3) indictment 4) infliction
He told a lie in a court, so he is guilty of ---------- .

1) perjury 2) wounding 3) consent 4) burglary
The --------- assets of the company are staff morale and goodwill.

1) intangible 2) tangible 3) implicit 4) inaccessible
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PART B. Cloze Test

Directions: Read the Jollowing passage and choose the best choice (1), (2), (3) or (4)
that is suitable for the text; then mark the correct choice on your answer sheet.

Minder is the most serious homicide offence and associated in the public's mind with
deliberate killing, yet defendants may be (71) =--emmmeev of it without intending to kill, or even
foreseeing that death was a possible result of their acts, if they intended to causz grievous
(72) —-mmmmeee - The rule has been questioned by several judges. notably in Hyam, but it was
confirmed by the House of Lords in Moloney.

There has been a lengthy campaign o reduce the forms of malice aforethought 10 one, the
intent to kill, (73) ------—--- that the term murder should be reserved for the most blameworthy
type of behaviour. A Ilouse of Lords Select Committee recommended replacing intent to cause
gricvous bodily harm (74) --------- to cause serious personal harm, being aware that death may
result from that harm. This is (75) -=---n-mmv in the draft Criminal Code. '‘Being aware' would
imply subjective knowledge; it would not be sufficient that a reasonable person would have
known if the accused did not.

1) treated 2) convicted 3) amounted 4) assumed

1) body harm 2) bodily harm 3) bodily harmfully  4) body harmfiilly
1) in the ground 2) on grounds 3) in ground 4} on the grounds
1) by intending 2) as intent 3) with intent 4) to intend

1) committed 2) incurred 3) contained 4) carried

PART C. Reading Comprehension
Directions: Read the following three passages and choose the best choice (1), (2), (3)
or (4); then mark the correct on your answer sheet.

Passagel:

Property includes money and all other property, real or personal, including things in action
and other intangible property. Intangible property means property that does not exist in a
physical sense, and a 'thing in action' (also called a 'chose in action') is a technical term to
describe property that does not physically exist but which gives the owner legal righ's that are
enforceable by a court action. For example, when a bank account is in credit, the bank owes the
customer money and if the bank refuses to pay the customer that money when asked. the
customer can sue the bank for the amount in the account. This right is the thing in action. Other
examples of things in action are sharcs in a company and copyright.

The approach to be taken with cheques has caused particular problems. The balance of the
account reduced when the cheque can be treated as a thing in action if the cheque was drawn
on an account which was in credit or within an agreed overdraft facility (R v Kohn (1979)). If
the account was overdrawn beyond any agreed overdralt facility then the account holcer has no
right (0 money held by the bank which could be treated as a thing in action. The case of
R v Duru (1973) suggested that the piece of paper on which the cheque was written could be
treated as the property, but this approach was disapproved ol'in R v Preddy (1996). Professor
J.C. Smith (1997) has argued that cheques should be treated as property on the basis that they
arc 4 'valuable security', rather than focusing on a thing in action or a piece of paper. This
approach was followed by the Court of Appeal in R v Arnold (1997).

The word "which" in line 4 refers to -—---—---,
1) term 2) physical sensc 3) property 4) action
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"Things in action" is characterized as being ----------—- .
1) bank accounts 2) a kind of property  3) technical choices  4) physical things
The Court of R v Arnold ---------- .
1) treated cheques as pieces of paper 2) favored Mr. Smith's appeal
3) argued for things in action 4) considered cheques as a valuable security
It can be understood from the passage that ---------- .

1) copy right is a tangible property

2) the case of R v Preddy did not follow the approach taken in the case of R v Duru
3) money is different from real property

4) property is a kind of things in action

The passage is mainly about ----------- .

1) the meaning of things in action 2) types of theft

3) purposes of theft 4) approaches to cheque security
Passage 2:

A regulatory offence is one in which no real moral issue is involved, and usually (though not
always) onc for which the maximum penalty is small - the mass of rules surrounding the sale
of food are examples. In Gammon it was stated that the presumption against strict liability was
less strong for regulatory oftences than for truly criminal offences.

This distinction between true crimes and regulatory offences had previously been made in
the case of Sweet v Parsley (1970). Ms Sweel, a teacher, took a sublease of a farmhouse
outside Oxford. She rented the house to tenants, and rarely spent any time there. Unknown lo
her, the tenants were smoking cannabis on the premises. When they were caught, she was
found guilty of being concerncd in the management of premises which were being used for the
purpose of smoking cannabis. contrary to the Dangerous Drugs Act 1965 (now replaced by the
Misuse of Drugs Act 1971).

Ms Sweet appealed, because she knew nothing aboul what the tenants were doing and could
not reasonably have been expected to have known. Lord Reid acknowledged that strict liability
was appropriate for regulatory offences, or '‘quasi-crimes' — offences which are not criminal "in
any real sense", and arc merely acts prohibited in the public interest. But, he said, the kind of
crime to which a real social stigma is attached should usually require proof of mens rea; in the
case of such offences it was not in the public interest that an innocent person should be pre-
vented from proving that innocence in the interests of making it casier for guilty people to be
convicted.

According to the passage, Ms. Sweet ----—----- .

1) was unknown to many people 2) was not expected Lo have a house
3) allowed people to smoke cannabis 4) did not use the house very often
A regulatory offence is ---—------- .

1) applied for the rules of food salc 2) not a real issuc

3) done for a mass of rules 4) treated with maximum property
The main purpose of the first paragraph is to --------- .

1) define maximum penaltics 2) offer rules of the salc

3) explain Gammon's statement 4) clarify regulatory offences

The author clarifies the meaning of regulatory offence through ------—--- .

1) a moral case 2) instances of truly criminal offences

3) the case of Sweet v Parsley 4) the Oxford Dictionary
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The word ''stigma" in the last paragraph is closest in meaning to -----—---- .
1) shame 2) criterion 3) problem 4} condition
Passage 3:

The Law Commission has stated that 'it is in the interests of clarity and the consistent
application of criminal law to define intention'. In common with a House of Lords Select
Committee, it recommends that foresight of a virtual certainly should amount to intention. This
would mean that foresight would again be part of the substantive law, not merely part of the
evidence. At present, a person who kills foreseeing death or grievous harm as virtually certain
may be a murderer; under the reformed scheme such a person would be a murdcerer. The House
of Lords judgment in Woollin only goes halfway to achieving this reform, as the jury are still
only 'entitled" to find intention and the matter is still a question of evidence. Lord bridge in R v
Moloney had not wanted to treat foresight as intention in Jaw because he was anxious to draw a
distinction between intention and recklessness. Thus foresight amounted to recklessness in law.
while foresight was only evidence of intention. But this problem is now avoided by drawing
the distinction between the two forms of mens rea on the basis that only foresight of a virtual
certainty will suffice for intention, while a lesser degrec of foresight will suffice for
recklessness.

"This problem" refers to ---—-c--m-- .

1) Lord Bridge's recklessness 2) Moloney's anxiety

3) avoiding foresight 4) the interpretation of foresight
The word "suffice” can best be replaced by ~--amemee,

1) be enough 2) show 3) agree 4) be a sign of
The best title for the passage would be ----——--— .

1) Select Committee 2) Application of Criminal Law

3) The Meaning of Intention 4) The Law Commission

The reform is most closely related to ---------,

1) conditional intent 2) House of Lords Select Committee
3) mens rea to include recklessness 4) foresight of harm

According to the passage, it is NOT true that foresight is -----m---- .
1) only part of the evidence

2) enough for intention when it is of virtual certainty

3) evidence of intention

4) part of the substantive law



